Bank Reconciliation for Eye & Dunsden Parish Council 2015-2016
Bank Account(s):
Lloyds Current Account: £1,336.04


      
Lloyds Deposit Account: £9,149.00



Total: £10,485.04 – minus uncleared cheques of £511.10





 


= £9.973.94
Add uncleared payment (list):
Tax on March monthly salary 
£  98.07






March salary for clerk
£413.03







Total = 
        £ 511.10 
Add Petty Cash:



None
Add Short term Investments (these are interest bearing accounts only,

all investments whose capital value changes over time are long term

investments and must be included in fixed assets): None
Total

What is the figure in Box 8 in Section 1 of the Annual Return? 
£ 9,973.94
Does the bank total equal Box 8 in Section 1 of the Annual Return? Yes 

